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n - RETE RS L (BEE 10075 UL/ 075 LEF) -
o 2 AlrelE 3 1137 (<AETFRIE) 3 1134 (<AE TR R
T—T4FaA—" 6H22H RHEEd (<£16.9) wmEEd (<16.8) |FFMAHX
T—T4FaA—7" 6H22H RHEEd (<£15.2) BmEEd (<15.1) |;AIN#X
R_HT 5H7H wRHEEd (<£13.8) BmEEd (<13.7) |'"hEB#X
FHEIRHY 118138 441. 48~sLn/snr54 | (<16.8) | 243. 67~sLn/%0r54 | (<17.6) |BEHK
T7hE 10811H RHEEd (<£12.2) wmEEd (<12.0) |/"hEB#hX
T7hE 108111 BRHET (<11.3) BREET (<11.2) |'"hEB#X
THYE 3H21H BRHET (<17.7) BREET (<£19.9) |/hNEB#X
T RN 48248 RHET (<£23.8) BREEd (£23.8) |/hNEB#hX
NG 1A168] 4.67~sun/%0754 | (< 0.8) BHEd (< 0.9 |[EmHX
T AINTHR 5H23H BRHET (<15.2) BREEd (<£15.2) |&HH#X
T AINTHR 5H16H RHET (<14.2) BEEd (<14.2) |BE#KX
T AINTHR 481980 RHET (<£20.5) BREET (<£20.5) |ILHEMX
T EAX 10830H BREEd (<20.8) BREET (<£22.1) | AKX
7IT5F 38228 BREET (< 4.3) BREET (< 5. 1) |&£8HX
7IT5F 485208 BREET (<£24.6) BREET (<24.6) |FFMAHX
7IT5F 4851 BREET (<£26.9) BREET (£26.9) |&HHX
7IT5F 48541 BREEd (<£28.8) BREET (<£28.8) |IUHMX
T IR 108118] 59.57~son/+ar54 | (<15.7) | 47.99~5n/%05. | (<15.5) [/NE#HK
A4F3 2H5H BREEd (<13 1) BREET (<14.8) |=EAHK
A4F3 1H8H BREET (< 7.1 BREET (< 7.9 |ZEAHK
4 F3d 581780 BREET (<£12.9) BREET (<12.9) [EMHX
4 F3d 48108 BREET (<£20.3) BREET (<20.3) |ZEAHK
AFTD 9820H BREEd (<£11.6) BREET (<11.6) |"hNEBE#X
AFTD 9820H BREET (<12.7) BREET (<12.7) "hNEBE#X
AFTD 9H18H BREEd (<£14.5) BREET (<14.2) "hNE#X
AFTD 9H4H RHEET (<15.9) BREET (<15.7) |&E#HK
A1 EHZ 10818H RHEET (<£16.8) BREET (<16.9) |Bx=#K
AT 7H31H RHEET (<15.5) BREET (<15.4) |B=#K
AN 5H8H RHEET (<£14.9) BREET (<14.8) |'hNE#X
AN 5B7H RHEET (<13.4) BREET (<13.4) | X FEHX
AN 5B1H RHEET (<10.4) BREET (<10.7) |"hE#X
AN 48258 RHEET (<£21.8) BREET (<21.8) |ZMEMX
AN 48208 RHEET (<23.7) REET (<23.7) |ZMEMBX
AN 48198 RHEET (<£22.4) BREET (<22.4) |'"hNEHX
g 6822H RHEET (<£14.5) REET (<14.4) | KE#X
g 68198 RHEET (<15.7) REET (<15.6) |ILEMX
g 68148 RHEET (<£14.2) BREET (<13.9) |ILEMX
g 68148 RHEET (<£13.3) REET (<13.0) |/"hNE#X
g 6H13H RHEET (£22.4) REET (<21.9) |/"hNEH#X
g 68118 RHEET (<£13.5) BREET (<13.5) |##X
g 68118 RHEET (<£16.0) BREET (<15.9) |ILHEMBX
g 688H RHEET (<£14.3) REET (<14.2) |B=#HKX
g 686H REET (<15.7) REET (<15.6) |&4HtX
g 58318 RHEET (<£15.9) BREET (<£15.9) |&WH#X
g 5R24H8 REET (<£15.2) BREET (<15.1) |ILEMBX
1) 8A7H RHEET (<£13.6) BREEd (<13.5) |B=E#HX
Idv 108248 REET (<£26.8) REET (<£27.8) |"hNEB#X
I vlLwy bk 58178 RHEET (<£13. 4) REET (<13.4) |"hNEB#X
I vLlLwyhb 4H18H RHEET (<£24.5) wREET (<24.5) |/"hNEB#X
BE 1083H REET (<£14.5) BREEd (<14.4) [/"hNE#X
BE 1082H REET (<£19.8) wREEd (<£19.8) |/hNE#X
BE 98278 REET (£21.3) BREET (<21.0) |JAIN#X
IR A 7H24H REET (<14.3) BREET (<14.3) |Bx=#KX
*455 78318 17. 43~sin/xas54 | (<17.1) BHEEF (<17.0) [hnEmx
*TUZ 7H31H REET (<18.1) BREEd (<18.0) |/"hNEB#X
il 11820H REET (<£11.5) 16. 45~ /%0354 | (<12.0) |/NE#X
i 1089H REET (<13.2) BREEd (<13.1) | XFEHHX
#h (JIREAE) 10818 REET (<£12.2) RHEET (<12.1) |IWWEH#X
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i z A 3 ;137 (<RI TARME) 3 134 BT i
i (FEREE) 108 1H wEEd (<£12.5) BmEEd (<12.3) |WWAEH#X
Hh7 11A7H wrEEd (<15.1) M (<15.8) |#4nHX
HRF 118278 wrEEd (<£17.5) mEEd (<£18.3) |/"hE#X
HRF 10H16H BrEEd (<£15.4) BmEEd (<15.4) |'"hNE#X
HRF v 98278 wrEEd (<14.5) mEEd (<14.2) |"hNE#X
HRF 94278 BT (£12.8) BT (<12.6) |2E#K
HRF ¥ 9H25H BT (<£15.2) BT (<15.2) |@E#X
HRF 9H20H BrEEd (<£13.5) BT (<13.4) |2E#X
HRF 7H26H BrEEd (<£14.6) BmEEd (<14.5) |BEHMX
HARF x 68198 dakesry (< 6.7) BHEd (< 8.2) '"hNEHK
noF 38218 wEEd (<13.0) BT (<14.5) |"hNE#X
noF 3A12H wEEd (<£16.0) BT (<£17.9) | KE#KX
hosF 3A12H Edashedr (< 9.5) BT (<£10.5) |["hE#X
mnio LE 4748 Elasgedr (<£26.1) BT (<£26.1) |ILEAHKX
H)TTT— 5A31H Elangedr (<20.1) Elanhedr ) (<£20.0) |"hNE#X
oA 11H22H Elasgedrl (<12.0) BT (<12.5) |ZEHMX
oA 11H22H Elangedr (<11.5) BT (<12.0) |ZEHMX
oA 11A14H Elasgedr (<11.6) Elanhedr ) (<12.2) |ZEAHK
oA 11H13H Elasgedr (<12.3) Elangedr ) (<12.9) |ZEHIBX
oA 10H31H Eqashedr (<17.0) BT (<18.0) |BEE#HKX
F Xy 5H29H B (<13.7) BEEY (<13.6) | KHEH#X
F Xy 5H23H B (<£14.6) BT (<14.6) |&BHX
F Ry 12H13H BT (<£14.8) BT (<15.6) |"hNE#KX
F Ry 118278 BT (<£16.8) BT (<£17.6) |HEH#X
F Ry 11H21H Eqasgedr (<15.0) BmEEd (<15.7) |BEE#HKX
F Y 985H BT (<14.0) BT (<13.9) |"hNE#KX
Fr Ry 6H25H BT (< 5 4) BT (< 81) |&aE#X
Fr Ry 6H8H BEEd (< 7.0) BT (< 9.6) |BxEHKX
Fr Ry 6H6H BT (<15.6) BT (<15.5) |t
Fr Ry 5H28H BEEd (< 6.6) Elanhedr ) (< 8.8) |EAHK
Fr Ry 58228 14 14~sLn/%0956 | (<13.6) BT (<13.6) | XTEFH#X
F Ry 5H16H BT (< 8.2) BT (<10.6) |RTEF#X
F Ry 5H8H BREEd (< 9.0) Edahesr) (<12.9) |F/INR#K
Faol 7H19H8 BT (<13.7) BT (<13.6) |EAHK
ool 7H188]| 14.63~x5L1/x0554 (<13. 1) BRHET (<13.1) | AHE#X
Faoy 7108 BT (<£13.3) BmHEET (<13.4) |#EMriX
Faoy 7H3H BREEd (<£13.6) BT (<13.3) |[/hNE#X
Faol 68278 BREEd (<13.7) BT (<13.7) |A¥k#X
Faoy 6H26H BREEd (<£13.8) BT (<13.6) |EHH#KX
Faoy 6H26H REET (£13.8) BT (<13.6) |[/hNE#X
Faoy 6H25H REEY (<£13.5) BT (<13.4) |3FAABX
Faoy 6H8H REET (<£13.6) BmHEET (<£18.6) |#EMH#HX
Faoy 5H14H REET (<12.7) MY (<12.7) |81
Bl 7H12H REEd (<£12.6) BT (<12.7) |ER#X
Bl 7A11H REEY (<12.4) MY (<12.3) |ERE#X
&< 10816H REET (<17.2) BmHEET (<17.2) |8
B LW =T 10838 18.27~svLn/%ns54 | (<13.1) | 13 Td~pin/xns54 | (<13.0) [ILEHMX
B L W= 7841 kel (<13. 1) BRHEd (<13.1) |IWHEBX
B L W= 48138 kel (<19.1) BEEd (<19.1) |EHIX
ERE 7H31H REET (<£20.7) mHEET (<20.6) |FFHHX
R 10H31H REET (<£17.8) BmHEET (<18.9) |"hNE#X
e 108108 kel (<£16.5) BREEd (<£16.2) |#EM#X
E 10H10H REET (<£15.9) RHEET (<15.6) |&WHX
E 10H9H REET (£17.8) BRHEET (<17.6) |&EHX
x 10548 REET (<14.7) RHEET (<14.5) IR #X
E 10548 REET (£15.2) RHEET (<15.1) |"hE[X
E 10H4H REET (<14.1) RHEET (<13.9) |BxE#HX
E 10H2H REET (<£16.4) RHEET (<16.4) |tHHE#X
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E 108328 kel (£16.3) e (<16.3) |&HpX
£ 108328 kel (£15.3) e (<13.4) |&HX
£ 108 1H dakesry (<14.0) MmHEd (<13.8) |&Mp#X
£ 108 1H dakesry (<13.7) e (<13.5) |ZFHE#HX
£ 98 27H dakesry (<£16.7) e (<16.4) |&HHX
E 95 26H dakesry (£16.4) BRHEd (£16.2) |BEE=#K
E 95 25H dakesry (<£20.1) BRHEd (<20.1) |HHER#X
E 95 25H dakesry (£18.6) BmHEd (<18.5) |&EE=HK
E 98248 dakesry (£13.6) BHEd (<13.6) |&WHX
E 98248 cdakesry (<£15.0) BmHEd (<14.9) |&HX
E 98218 dakesry (£18.7) BmHEd (<18.6) |ILHAMX
E 98218 dakesry (<£19.7) BRHEd (£19.7) |BEE=K
e 9821H BRHEd (<£14.5) BHEd (<14.5) |E# X
e 9821H B (<£13.9) BHEd (<13.9) |IWE#X
e 9520H B (<£15b.5) e (£15.5) |BE#HK
= 9520H Elasgedr (<£16.0) | 18 da~sLn/xnysn | (<16.0) | X TFEHX
e 9811H B (<£16. 4) e (<16.1) |BEEHMX
= 98118| 20.66~5L1/xns54 | (<17.3) BT (<17.1) |/"hNE#X
)R 108318| 104~sL1/%0454 (<£20.8) | 66.03~5L1/%0554 | (£22.0) |/NE#X
gLy 98138 BRHEd (<14.2) BHEd (<13.9) |/hNE#X
gLy 8H8H B (<£13.5) BHEd (<13.4) |FFHH#X
gL 5815H B (£13.3) BHEd (<13.4) |[/hNE#X
BARLWE=ITF (INTR) 10830H]| 61.98~xsLn/40s54 | (<17.1) 37 1xsLn/¥055 0 (<18.1) |XTFE#X
BARLWE=ITF (INTR) 108258 22.91~sLu/%as54 | (<13.2) | 13.86~sLn/x0s54 | (<13.7) [/NE#HX
BARLWETF (NI R) 108258 BT (£13.8) 16. d~sLn/%055 0 (<14.4) |/"hNE#X
BARLWE=ITF (INTR) 10823H]| 70. 4d4~sLn/xns5n | (<12.7) | 38.59~sLn/2ns5n | (<13.2) |BEMK
BARLWE=ITF (INTR) 10823H| 47. 0l~xsvn/xns5n | (<16.0) | 22. Td~sin/xns56 | (<15.6) |Z2HMK
BEARLWE=ITF (T X) 58178 20.7~sLn/%0554 (< 6.8) BRHEHEd (< 8.9) |fE#HH#X
BEARLWE=GF (WD R) bH28]| 13. 78~xsLn/x0454 (<£10. 3) BREET (<£10.6) |E5E#X
BEARLWE=IF (1T X) 48268 dakesr (<£20.9) BRHEd (<20.9) AKX
BARLWE=ITF (INTR) 48268 25.32~5Ln/xns5n | (K21.8) | 27.67~sLn/xn254 | (<21.5) |[EEH#K
BEARLWE=IF (1T X) 48258 cdakesr (£21.6) BRHEd (<£21.6) |
BARLWE=ITF (NI R) 48208 38.27~svLn/xns5n | (<26.1) | 26.05~sLn/xns54 | (<22.8) |RTEFH#HK
BFEARLW=IF (LT X) 48208 dakedr (£21.8) BRHEd (<£21.8) |WWAH#X
BARLWE=ITF (INTR) 4858 44.89~sLn/xns54 | (<21.0) | 26. 91 ~xsLn/xnrsn | (K21.1) [BEH#HK
BARL W= (E#h) 3A288]| 53. 78~svLn/xnysn | (< 6.3) | 22.28x5Ln/x0054 | (< 7.0) |BEE#HKX
BARLW=F (Bir) 38288 61.87~sLn/x0s54 | (< 6.9) | 32.56~sL0/%0y54 | (< 7.7) |BEMK
BARL W= (EHh) 3A288]| 95. 22~sLn/xns56 | (< 5.9) | 34.64~sLn/xn054 | (< 6.5) |BEE#HX
BARLW=F (Bir) 3B278| 64.67~5Ln/xn554 | (< 6.1) 33. IxpLn/x055 0 (£ 6.7) |BxE#X
BARLWE=F (BHr) 3A278| 41.92~s /20554 | (< 6.1) | 18.28~5sL/%0s54 | (< 6.8) |/NEHK
BARLWE=IT (EHh) 3H25H] 68. 44~xsLn/xnr5n | (< 3.1) | 40. MMxon/xnrsn | (K 3.7) |BEMHK
BARLWE=F (BH) 3B228| 66.45~5Ln/xnr54 | (< 2.9) 42 8~y Ln/x0550 (< 3.4) |&4thX
BARLWE=IT (EHh) 3H21H]| 53.68~xsvLu/%nr56 | (< 4.3) | 30.83~xsLn/%n54 | (< 5.0) |#gthX
BARLWE=IT (EHh) 3A21H| 41.83~xsvn/%nr56 | (< 3.8) | 23 T1~xsrn/xnr5n | (< 4.5) |/NE#HK
BARLWE=T (Eih) 3ANAB| 37.79~s /a5 | (K 2.1) | 23.67~sLn/%0954 | (< 2.5) |{E&EHK
BEARLWE=IT (i) 28278| 8.48~sLn/xns54 | (< 8.3) BRHEET (< 9.2) |ILAMK
BEARLWE=T (i) 18298 kel (<13.0) BHEEd (<14.5) |#E&#HX
BEARLWE=T (i) 128108 29. 17~svL1/%n954 | (<13.6) | 15.61~xsLn/xny54 | (<14.1) [KRREH#X
BEARLWE=T (i) 1286H| 93. 6~x5Lu/%075.4 (<13.4) | B3. 08~sLn/xoysa | (K14.1) |&#hX
BEARLWE=T (i) 11H298| 253. 7~xsLn/xn054 | (<18.6) | 162 bror/xnrsn | (<19.4) |tHE#MIX
FEARLWEIT (FEHh) 11A288] 51.01~sLu/#ns56 | (<21.5) | 29.2~sLn/ns54 | (<22.6) |[HEMK
BEARLWE=T (i) 11A28H]| 32 9 ~sL/xns54 | (K<14.0) | 23. 22~sLn/xn054 | (<14.7) 5AIR#X
BEARLWE=T (ERih) 118288 40. 79~sLn/%n0554 | (<13.3) | 23. 34~sin/xns54 | (<13.9) [AKHX
BEARLWE=T (Rih) 118278 1. 47~sLn/20554 | (K21.1) BHEET (<£22.0) |"hNE[X
FEARLWE=IT (i) 118228 kel (<14.3) BHEd (<14.9) |tE&H#HX
BEARLWE=T (Rih) 118228| 41.06~sL1/%0554 | (<14.3) | 28.83~sLn/xn054 | (<14.9) [AK#X
BEARLWE=T (Rih) 118208 49. B8~sLi/2ns54 | (<13.1) | 28.4b~sin/xns54 | (<13.6) [HEMX
BEARLWE=T (Rih) 11198 18. 2~sLn/2ns54 | (<12.4) | 17.82~sLn/xn054 | (<12.9) |&4H#X
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BARLW=IT (E#r) 118158]| 90.52~4L1/%0554 (<£14.8) | 42.08~sLn/%0554 (<£15.5) |AKHhX
BEARLWE=T (Bih) 118148]| 38.51~sLu/20s54 | (<19.6) | 26.02~sLn/0s54 | (<20.5) [tHEMX
JEARLWE=F (Eih) 11A14H] 33.16~sL1/40s54 | (<15.8) e (£16.5) |&EE=#HKXK
BEARLWE=T (Bih) 118138| 58.6b~sLu/xn754 | (<15, 1) 39. 2xs /%045 4 (<£15.8) |BEMX
BEARLWE=T (Bih) 11B138| 3b.62~svLu/xny54 | (<K12.7) 24. 2~y Ln/%055 4 (<£13.3) |B=E=#XK
JFEARLW= (Eih) 1MA7R| 34.88~s /20054 | (<17.2) | 28.16~sLu/xn54 | (<18.0) |H4n#X
FEARLW=F (Eih) 1MAG6H| 54.59~sLu/xns54 | (<17.0) | 34 79~sLu/xnr54 | (<17.8) |BEHMK
BEARLWE=T (BRir) 108318| 44. 76~5vLn/x0954 | (K17.5) | 28.34~sLn/%n754 | (<K18.5) [/NEHIX
FEARLWET (i) 108308 63. 79~sL1/%#a554 | (<18.3) | 35. 06~sLn/xns54 | (K19.4) (&K
FEARLWET (i) 108308 51.54~sL1/%0s54 | (<25.0) BmHEd (<26.5) |[EM#X
FEARLWET (i) 108238 74. 07~svL1/%av54 | (<15.0) | 43.8b~sLn/%ns354 | (<15.6) [ZFHEMX
BEARLWE=T (BRih) 108108 75. 23~5svLn/x0954 | (<K18.6) | 46. 23~sLn/%n754 | (<18.3) |[BEHX
BARLWE=IT (Eth) 10848]| 16.83~xsLu/#nr54 | (<14.4) 16. 08~sL /%054 | (<14.3) |HEHK
BARLWE=IT (Eth) 5188 112 6~sin/%ny5n | (K12.7) | 64. 8~sLn/xns54 | (<12.7) |'NE#X
BARLWE=IT (Eth) 5108 50.53~svLn/%ny5n | (K12.3) | 29. 71xsLn/xny5n | (K12.3) |BEHMK
BARLWE=IT (Eth) 48278 49. 09~sLn/%ns546 | (<11.0) | 37.89~sLn/xns54 | (<11.0) |{EEBHBX
BARLW=T (Bir) 48278 12.27~sLn/%0456 | (<L10.8) BREET (<11.0) |AKHK
BARLW=IT (E#h) 4H278| 23.6~5Ln/x0554 (<£12.6) 23. 0~sLn/%055 4 (<£13.0) |#c#ERtX
BARLW=IT (Eth) 48268 18.02~svLn/%ny56 | (<K10.5) | 20. 44~sLn/xn054 | (<10.8) |&£EBHhX
JBARL W=+ (EHh) 48268 58. 72~sLn/xny5n | (<20.3) | 43.53~sLn/%n054 | (L20.3) |EHH#KX
JBARL W= (EHh) 4258 228. 2~sLn/x0y54 | (<21.1) | 136. 94~sn/xoy54 | (K21.1) |HE#X
JBARL W=+ (EHh) 48238 83. 42~sLn/xny5n | (<21.9) | B5. 04~sin/xnssn | (<21.9) |##ihX
JBARL W=+ (EHh) 48208 42. N ~sn/xnysn | (<£20.9) | 27.85~sLn/xn054 | (<20.9) |EFHEMX
JBARL W= (EHh) 48198 316. 46~s /%0354 | (<31.0) [ 204. 56~sLn/x0454 | (<31.0) [HEHK
BEARLWEIT (Bih) 4819H B (<£23.6) BHEd (<£23.6) |#FRH#X
JBARL W= (EHh) 48198 48. 28~sLn/%ny56 | (K21.1) BT (L21.1) |3
BEARLWE=IT (Bih) 48198 dakesr (£21.6) BRHEd (<21.6) |FFHHX
JBARL W= (EHh) 48188 30.87~sLn/xny56 | (<20.9) | 39. 2~xsLn/xns54 | (£20.9) |[HEHK
BEARLWE=T (Bih) 4818H cdakesr (£22.0) BRHEd (<22.0) |RTE#X
BARLW=F (Bir) AR178]| 25. 31~sLn/xass5n | (<20.4) | 23.62~sLn/%054 | (<20.4) [EMH#K
BEARLW=IT (EBHh) 48178 43.59~sLn/xny56 | (K21.3) | 32.57~sLn/xn054 | (<21.3) |AKH#X
BEARLW=IT (EBHh) 48178 23.87~sLn/%0v56 | (L21.4) BREET (L21.4) |53
BEARLWE=T (Eih) 48178| 33.19~sLn/xns54 | (<20.4) BREEd (<20.4) | X FEFHX
JEARL W= (FEHh) 48178 dakedr (£21.6) BRHEd (<21.6) |RTE#HX
JEARL W= (FEih) 48178 dakeiry (£21.3) BRHEd (<21.3) |#c#HX
JEARL W= (FEih) 48178 dakedry (<21.0) BRHEd (<£21.0) |WWAEH#X
AR LW (FEih) 4816H dakeiry (<20.0) BRHEd (<20.0) |s&#BX
JEARL W= (FEih) 4816H dakeir (<18.5) BRHEd (<18.5) |##HX
BARLWE=IT (EHh) 48138 44.53~sLn/xns546 | (<18.8) | 44.39~sLn/xns54 | (<18.8) |ZHMKX
BARLW=IT (EBHh) 48128 117. 2~sLn/%ns56 | (<19.6) | 79. 711~xsLn/xns54 | (<19.6) [SAIR#X
BARLWE=IF (BH) 48128| 34.05~sLn/xnr54 | (<20.8) | 28.66~sLn/xnr54 | (<20.8) |[{EMMH#K
BARLWE=IT (E#h) 48128]| 26. 23~5 /054 | (<20.3) | 23.24~sLn/%0y54 | (<£20.3) |sAIRHIK
BARLW=IT (EBHh) 481281 80.29~s /%056 | (<20.6) | b4 62~sLn/xn054 | (<20.6) |EEHKX
BARLW=IT (EBHh) AF128] 219. 34~sLn/xoy56 | (K21.1) | 148 16~sLn/50554 | (L21.1) | K TH#HX
BARLWE=IT (EHh) 48128 55.89~sLu/%nr56 | (<20.9) | 34 7d~xsin/xnr56 | (£20.9) |5E#K
BEARLWE=T (i) 48128]| 66.52~5Ln/#ns354 | (<20.2) | 45.3b~siLn/xnrs5n | (<20.2) |FFEMK
FEARLWEIT (FEHh) 481281109 02~5 L/xns5n | (<20.4) | 72.28~xsLn/%0s54 | (<20.4) [BEMK
BEARLWE=T (Eih) 48108]| 62. 32~sLn/ns354 | (<19.3) | 44.67~5Ln/50r54 | (<19.3) [FAIR#K
FEARLWEIT (FEHh) 48108]| 82 09~sLn/ns354 | (<23.1) | 76.32~5Ln/%0r54 | (<23.1) [ERAMBK
BEARLWE=T (i) 48108][ 118. 65~ Ln/%ns54 | (<23.9) | 87.53~sLn/#ny54 | (£23.9) |HEHX
FEARLWEIT (FEHh) 48108] 100. 1xsLu/xas54 | (<20.9) | 66.69~sLu/20054 | (<20.9) [FAIRNH#K
BEARLWE=T (i) 48108][ 59.69~sLu/xns54 | (<£20.8) | 41. 01~sLn/#ny54 | (<20.8) |EHMKX
BARLWE=IT (Eih) 48108 90. 47~svn/%nr56 | (<21.8) | 73. 09~sLn/xns54 | (<21.8) |&Wi#X
BEARLWE=T (Rih) AF10H]| 65.61~xsLn/xns56 | (K21.3) | B4 72~xsin/xns56 | (<21.3) | K TH#X
BARLWE=T (i) 48108]| 30.67~5Ln/ns354 | (<20.8) | 25.39~sLn/%nr54 | (<20.8) [ILAHK
BARLWE=T (i) 48108| 156. 7~sLn/xns5n | (<21.4) | 103 6~r5Ln/%nr54 | (<21.4) |ZFMEMK
BEARLWE=T (Rih) AF108]| 77.07~svin/xn56 | (<20.6) | 24. N~sin/xns56 | (<20.6) | K TEH#HX
BEARLWE=T (Rih) AF108]| 78. 24~svin/xnr56 | (<20.6) | B4 42~xsLn/xn556 | (<20.6) | K TFE#X
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FEAEHTEREDSFORNMEYERERR (H24.4.1~)

At =]

AlEH

BEEE S D L (BEME 1005 UL/ F85 5 LLUT)

ERER I X

U L1137 (<RIETRAE) o L134 (<HETRAE)
BARLW=IT (E#r) 48108B| 41.6~5Ln/%0554 (<£20.7) | 24.37~sLn/%0554 (<£20.7) |RTE#HX
BEARLWE=T (Bih) AB58| 84. 77~sLn/#0s54 | (K21.8) | 67. 73~sLn/%nv354 | (<21.8) |FEAHK
JFEARLWE=T (i) 485H Cdakesry (<£22.6) | 26.8b~xsLn/%0054 | (£26.6) |ERA#IX
BARLW=IT (E#r) 4838 64. 31~sLn/x0550 (<£20.5) | 44.38~sLn/%0554 (<£20.5) |#&#nithX
BEARLWE=T (Bih) 4838]| 55.88~sLu/#0s54 | (<K20.4) | 48.63~sL/%0v54 | (<20.4) |BEHK
FEARLWET (i) 4838]| 50.56~s /#0754 | (<£20.8) | 53.93~sLu/%nv354 | (<20.8) |&WHX
FEARLWET (i) 4828 75.86~5Ln/20554 | (<20.9) | 44. d4~xsLn/xnp54 | (£20.9) [EEHK
J—v 8H30H dakesry (<18.5) BMHEd (<18.2) |ILAHX
J—v 8H22H dakesry (£15.9) BMHEd (<15.6) |/hNEHX
J—v 78248 cdakesry (£17.8) BMHEd (<17.8) |[/"hNE#X
INA T 4518H dakesry (£32.9) BMHEd (<32.9) |/"hNE#X
e 4526H dakesry (<30.0) BMHEd (<30.0) |EX=#HKX
= 48248 B (<£25.3) BHEd (<25.3) |&3FHEMX
- 48 23H B (<33.4) BHEd (<33.4) |fe#pK
e 4518H BRHEd (<25.6) BmHEd (<25.6) |1c#BHK
e 4518H B (<33.4) BmHEd (<33.4) |HHEE#HX
e 4518H B (<£26.4) BHEd (<26.4) |/"NEHX
- 4816H B (L£22.7) BHEd (£22.7) |HHEER#X
aAS7ITo bH8H| 634. 4~sLn/xn55L (<13.1) |435. 07~5sLn/xns54 | (<13.0) |[EEHX
aAv7ITo 528\ 214. 07~svLn/xns54 | (<12.0) | 149. 07~s /20454 | (<12.3) |"hNE#X
a>7Io 518 197. 2~sLn/x0554 (<£12.0) [ 124.56~5Ln/xnr54 | (<12.3) |BEE=EHX
aAv7ITo S5ATH]| 473.87~5Ln/%054 | (<13.7) | 374 46~sL /%0056 | (<14.0) |BEHMX
aAv7ITo 5A18| 47. 27~svn/2ny56 | (<12.7) | 24.08~xsLn/%0054 | (<13.1) |'hNE#X
a< 10825H dakesr (<£19.5) BREHEd (<20.2) [/NE#X
a< 108238 dakeary (<£15.7) BHEd (<16.3) |BEEHMX
INAZE 123258 dakesr (£ 8.5) BRHEd (< 9.5) /hNE#X
INAZE 11H6H dakesr (£16.2) BRHEd (<£17.0) |EEHX
INAZE 1082H dakesr (<£16.6) BRHEd (<£16.6) |BEEHMX
INAZE 5878 BHEd (<£14.6) BRHEd (<14.6) |[/NE#X
V=% 74 E 10858 daskesr (<£13.2) BRHEd (<13.1) |&E#X
V=% 74 FE 9825H cdaskear (<£20.1) BRHEHEd (<20.1) |&EH#X
JIV=Z% 9% 108248 odakesr (<£15.0) BRHEd (<£15.5) |BEEHMX
YOI AD 108198 49.3~xsLu/%0454 (<14.6) | 30.02~xsLn/%m954 | (<14.5) |ILAHX
YOI AD 108168| 153. 51 ~sLn/xnys5n | (<12.7) | 82.82~sLn/xns54 | (K12.7) |&#X
YOI 108198 33.67~svLn/#ns54 | (<30.7) BREEd (<30.7) |IWE#X
N 108168 dakeiry (<£15.4) BRHEd (<15.4) |&£#X
N 10828 13.49~sLn/xns54 | (<12.5) BRHEd (<12.5) |AIN#X
HYTAE 12868 dakedry (<£13.4) BRHEEd (<14.1) [EMHX
HYTAE 118288 dakeiry (<£15.8) BHEEd (<16.6) |EHMX
HYTAE 118228 kel (<13. 1) BHEEd (<13.7) |AIAHsX
HYTAE 108318 kel (<£21.5) BRHEEd (<22.8) |BEx=#X
HYTAE 108318 kel (£22.9) BRHEd (<24.2) |BEx=HX
HYTAE 108308 kel (<£16.9) BRHEEd (£17.9) |£##HX
HYTAE 108258 kel (<£13.5) BRHEd (<14.1) £
HYTAE 108248 kel (<£13.2) BREEd (<18.7) |fefriX
HYTAE 98 25H kel (<£18.9) BRHEEd (<18.9) [/hNEH#X
Y hAE 10830H kel (<£19.9) BHEd (<21.0) |EHHX
Y hAE 10A18H kel (<12.7) BRHEd (<12.8) |[/hNEHX
Y hAFE 9811H ke (<14.8) BHEd (<14.6) |[/NEHX
HhAF 9H6H kel (<11.9) BHEd (<11.7) [/hNE#X
Y hAE 4825H kel (<24.1) BHEd (<24.1) ;AR
Y hAE 48108 kel (<£19.2) BHEd (<19.2) |"hNE#X
YA T 78178 kel (<15.1) BHEd (<15.1) /hNEHX
YA T 7H13H kel (<15.2) BHEd (<15.1) /hNEHX
IR 108168 167. 24~sLn/%0r54 | (<13.2) | 75.09~sL /%0754 | (<13.2) [BEH#X
PR AN 8H22H BmHET (<18.4) BRHEd (<18.2) |/hNEHX
TVE 10A16H BmHET (<23.9) BHEHET (<23.8) |/hNEH#HX
VI 68208 REET (<15.1) 15, MxoL/xnrsa | (K<16.1) |BE#MK
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o — e S Y A (BEME 10087 L)L/ 0455 LUTF) =

o £ e 3 L4137 (<BIETARIE) £y 4134 <mETRm| X
VI 68198 wrEEd (<14.1) mEEd (<14.0) |BEE#HX
VI 68118 wrEEd (<£14.3) mEEd (<14.2) WX
R 58178 wrEEd (<£12.3) BmEEd (<12.3) |BxE#HX
BRE 4H3H BrEEd (<£19.7) mEEd (<19.7) |1E&B#HIX
A 108248 90.9~sLu/#0454 (<£17.3) | 34.38~sLn/¥045A (<17.9) |#£B#[X
A 10H23H wEEd (<12.2) BmEEd (<12.7) |2E#X
A 10819H BrEEd (<93.8) BT (<93.7) |lWAEH#X
A 10819H BmEEd (<25.5) BT (<£25.4) |FBFRHX
AD 108188]| 70. 02~x5 /%0554 (<£13.9) | 42.39~5Ln/¥0%5 A (<14.0) |#£B#X
A 10A158]| 28.86~4L1/%045 4 (<13.1) 17.br5L0/%055 4 (<£13.0) |"hNE#hX
A 108128/ 619. 87~sLn/%0s54 | (<K13.6) |[330. 17~xsLn/%ns54 | (<13.4) |{E&EHIX
A 108128 28.3~sLu/#0454 (<£17.5) | 21.69~5Ln/¥045 A (<17.3) |#eqnih X
A 108108 77.53~4 /#0554 (<£14.2) 43. 2~s /%055 4 (<14.0) |tHEH#X
Sy HAE 1529H Edangedr (< 7.6) BT (< 8.5) MK
Sy HAE 9H13H Edashedr (<£13.5) BT (<13.3) |"hE#X
Sy HAE 9H13H Edangedr (<£12.3) BT (<12.0) |"hNE#X
Sy HAE 8H16H Edangedr (<12.2) Elahedr ) (<12.1) "hE#X
Sy HAE 8H9H Edangedr (<£12.5) Elagedr ) (<12.3) |#EMH#X
Sy HAE 7A31H Elangedr (<15.3) BT (<156.3) |ZFMAHX
w4 E 7H20H BT (<£13.3) BEEY (<13.1) |ERE#X
w4 E 7178 B (<£12.6) BT (<12.6) |"hNEH#KX
Sy HAE 78138 BT (<13.0) BmEEY (<13.0) |"hNE#KX
Sy HAE 78128 Eqasgedr (<12.7) BT (<12.8) |"hNE#KX
w4 E 7HAbH BT (<11.9) BT (<11.9) |t
w4 E 7H4H B (<13.2) BT (<13.2) |"hE#KX
w4 E 68298 BEEd (<12.0) BT (<12.1) | R FEHH#X
w4 E 6H28H BT (<£12.6) BEET (<12.5) |t
w4 E 6H28H BEEd (<£12.6) BT (<12.5) |&ExE#KX
w4 E 68278 BT (<12.1) BT (<12.1) |[HHEER#X
w4 E 68278 BT (<12.3) BT (<12.3) |&FMAHX
Y HAE 68278 BT (<12.7) BEEY (<12.7) |'"hNE#KX
S HAE 6H26H BT (<12.3) BT (<12.1) ;AR
S h4AE 6H26H BT (<12.7) Edahesr) (<12.5) |tHER#X
S HAE 6H25H BT (<11.7) BT (<11.7) |ZER#X
T4 E 6H25H BT (<12.2) Edahesr) (<12.1) |AK#X
S h4AE 68208 BEEd (<£12.5) BT (<12.5) |&8H#X
A E 68128 BREEd (<11.5) BT (<11.4) |[#HEER#X
S HAE 68128 wEEd (<12.2) BT (<12.2) |ILHEHBX
S H4AE 5H30H R (<12.4) Edahesr) (<12.4) |3AMAHX
S hHAE 5H2H REET (<10.4) MY (<10.7) |2t
5% 108178 REEd (£18.6) MY (<18.4) |/"hNEH#X
5% 1049H REET (<£13.8) BT (<13.7) |'"hE#X
5% 1083H REET (<£20.0) | 21.92~5L0/%0554 (<£19.8) |"hE#hX
5% 6H22H BREEY (<£13.0) MY (<12.9) |BxE#X
=35 K] 1082H REET (<£19.0) BmHEET (<19.1) |[/"hNE#X
=35 K] 1082H REET (<£13.6) mHEET (<13.6) |/"hNE#X
H7 7 EE (K - %) 108250 ®RHEd (<12.3) RHEET (<12.8) |ZHEMK
H7 7 EE (FK - %) 4R17H wRHEd (<21, 4) RHEET (L21.4) |fEriX
HAD 1MB18| 222. 17~s /%0754 | (<14.1) | 130. d~sLn/%nysa | (K14.7) |[EEHH#K
HIAD 5A1H REET (£28.9) BmHEET (<29.7) MK
AA A 9A7H REET (<11.3) BMRHEET (<11.3) |IuAEH#X
AA A 8H28H REET (<£12.3) mHEET (<12.1) |[HHER#X
AAH 8H9H REET (<£12.8) RHEET (<12.6) |/"hNE#X
AA N 78178 REET (<£13.5) BRHEET (<13.5) |=ZEAH#KX
AETF 10A1H]| 13.b3~sLn/%0454 (£13.5) RHEET (<£13.3) |ZEH#MX
AyF—= 68148 REET (<14.7) RHEET (<14.4) "hNE#X
Ay F—= 6HA1H REET (<14.5) RHEET (<14.4) |3AMAEHX
AFyTTURY 5H29H REET (<13.9) RHEET (<13.9) |"hE#X
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o [ WA Y A (EEME 100X LIL/F045 5 LLTF) -

i z A 3 L4137 (<RI TBRAE) 3 L134 rETEm| OUEX
AEE 7H13H wrEEd (<£13.9) mEEd (<13.9) |KTE#HX
1) 3A19H wrEEd (< 9.0) M (<10.0) |"hEBX
1) 3A19H wrEEd (<£10.5) BmEEd (<11.7) ["hE#X
1) 5H7H wmEEd (£13.8) mEEd (<13.7) |fE##X
1) 48108 wmEEd (<£26.3) M (<£26.3) |sIN#X
1) 4H3H BrEEd (£37.6) BT (<£37.6) |'"hNE#X
1) 482H BrEEd (L£27.4) BT (£27.4) |IWA#X
oA 18228 BHed (< 5.3) BMEET (< 5.8) |'"NE#X
oA 5108 BrEEd (<£10.2) BmEEd (<11.0) |["hE#X
vto<xA 5H9H wEEd (£ 8.5) BT (<11.5) |@E#X
oA 5H8H BrEEd (<£13.3) BT (<13.3) |"hE#X
vto<xA 48198 wEEd (£21.3) BT (£21.3) |'"hE#X
oA 4H18H Edashedr (<24 4) BT (<£24.4) '"hNE#X
vto<xA 4812H Eqasgedr (<£23.7) BT (<23.7) |&WHX
VTR A 5A31H Eqasgedr (<12.4) BT (<12.4) "hNE#X
KiR 2H6H BEET (£ 2.8) BHEd (< 8.3) |t
KiR 1A178 BEEd (< 6.4 BHEd (< 7.3) |HHER#HK
iR 12H13H BT (<13.9) Elanhedr ) (<14.6) |"hNEB#X
R 11H5H Elasgedr (<12.7) BT (<13.3) |ZE@E#X
KiR 9H26H BT (<14.7) BT (<16.7) |BE#HX
KR 68148 dakear (<14.2) BHEd (<13.9) |/hNE#X
KiR 6H12H Eqanhedr (<13.0) BT (<12.9) |
KR 6H6H B (< 6.2) BHEEY (< 8.4) '"hNEHKX
KiR 5A11H BEET (< 6.6) BHEd (<10.1) /hNE#X
RIBDE 10811H Eqasgedr (<£15.9) BmEEd (<15.7) [AIHEX
RIBE 9H26H BT (<£16.9) BT (<16.7) |BEEH#KX
RIBE 58178 BEEd (< 8.5) BT (<10.4) |ZEHE#X
RIBE 4818H BT (<£37.3) BT (<37.3) |'"hNEB#KX
R4/ 68218] 13.66~sLn/%0s54 | (<12.3) BREET (<12.4) |#¥gHX
R4/ 3 68198 BT (< 9.0) BT (<14.2) |2t
R4/ 3 68128 BT (<13.1) BT (<13.0) |HHEH#X
R4/ 68128 14.68~sLn/%0s54 | (K12.5) BT (<12.5) |BExE=KXK
R4/ 688H]| 21.99~sLu/40s54 | (<13.5) BT (<13.4) |FFAAHBX
R/ 3 6H8H BEEd (<£19.0) BmEEY (<19.0) |ZEFAMAHX
R/ 3 6H8H BEEd (< 7.4) BT (< 9.4) |Bx=#KX
R/ 3 6H8H BEEd (<£13.3) B (<13.2) |tHEER#X
A4/ 3 6878\ 18.34~svLn/xns54 | (<14.2) BT (<14.1) |BEx=XK
R/ 3 6H6H BREEd (< 8. 4) BT (< 9.9 |KHE#X
R4/ 6848| 18. 25~xsLn/xns54 | (<13.0) BREET (<13.0) |"hE#hX
R/ 3 5H29H REET (L21.4) BT (<21.3) |&FMMAHX
Xy - 5298 13. 43~xsLn/xnr5n | (<12.7) MY (<12.7) |ILEMX
R/ 3 5H25H REET (< 7.8) BT (< 9.4) | RTEH#X
R/ 3 5248 REET (<£12.8) MY (<12.8) |#mHuX
R/ 3 5H23H REET (<£12.6) BmHEEY (<12.6) |JAIAHEX
R/ 3 5H23H REET (<£12.8) Edahear) (<12.7) |#E&E#HX
Q4 )3 5B238| 27 b4~siLn/xnrsn | (<12.9) | 23.69~sLn/5nr54 | (<12.9) |[#ei#hX
R/ 3 5H23H REET (<13.5) BmHEET (<13.5) |BE#X
R/ 3 5H23H REET (<12.3) mHEET (<12.3) |&3FHH#X
R/ 3 5H22H REET (< 7.8) mHEET (< 9.3) |#mHX
R/ 3 5H22H REET (< 7.6) mHEET (<11.0) |&WHX
Q)3 58228| 20 3~xsLn/xns54 | (< 8.4) BREET (<14.1) |ZEAHK
R/ 3 5H22H REET (< 7.4) BmHEET (< 8.7) |BFRHX
ey 5228 32.68~xsvLu/%nr56 | (<28.1) RHEES (<28.1) | XRTEH#X
R/ 3 5H21H REET (< 6.1) BRHEET (< 9.5) |&WHX
R/ 3 5H21H REET (< 82) BRHEET (< 9.4) |[HER#X
R/ 3 5H18H REET (<6.0) RHEET (<£10.1) |[EMH#HX
R/ 3 5H18H REET (<£13.3) RHEET (<13.3) |&WHX
R4/ 5A178| 32 0~svLn/%0454 (£26.3) RHEET (£26.3) |&E#X
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n - RETE RS L (BEE 10075 UL/ 075 LEF) -

o 2 AlrelE £ 1137 (<AETFRIE) £ 1134 (<AE TR R
R4/ 2 5H17H RHEEd (<£16.2) wmEEd (<16.2) | X TFEHH#X
24 )2 5178 9. 2~xsin/xnss5. | (< 6.4) BHES (<10.3) |&mimx
R4/ 2 5H16H RHEEd (< 9.3) mEEd (<11.0) [|;AIN#X
R4/ 2 5H16H wRHEEd (< 6.2) mEEd (< 9.8) |1E&B#X
R4/ 2 5H16H BRHEEd (<£23.8) BmEEd (<£23.9) |#mHX
8473 58168 9. 0~sin/snr5a | (< 7.0) BHEd (< 9.2) [neEmx
R4/ 5R14H BRHET (<13.2) BREET (<£13.3) |1E&B#X
R4/ 5R14H RHET (<12.3) BREEd (<£12.3) |=EAMK
R4/ 5R14H BRHET (<10.1) BREET (<£12.6) |/hNEB#hX
R4/ 5R11H RHET (<10.0) BREET (<13.5) |FFMAHX
R4/ 5H10H BRHET (<£10.0) BREET (<13.5) |FFMAHX
R4/ 5H10H RHET (<£13.4) BREET (<13.4) | AKX
R4/ 58108 BREET (<£12.8) BREET (<£12.8) |#EMH#X
R4/ 5H9H BREEd (<20.8) BREET (<20.8) | X TFH#HKX
R4/ 5H9H BREET (<29.1) BREET (<£29.0) |fE&B#HX
R4/ 5H8H BREET (<13.9) BREET (<£13.9) |AKHX
e 5888 23.57~sLu/x0m5. | (<13.2) BHE S (<13.2) |&mmX
e 5888| 13.6xsLn/x0754 | (<13.0) BHEd (<13.0) |iEmmx
e 5828][ 40.09~sLn/snr54 | (<11.6) | 21 18~sin/5ar54 | (<11.9) [HEMK
24 )2 5828 13 1~sin/xassa | (<11.2) BHES (<11.5) |gAamK
R4/ 5A1H BREET (<11.3) BREET (<11.6) |Bx=#K
R4/ 4827H BREET (<10.0) BREET (<10.3) |Bx=#K
R4/ 4826H BREEd (<L21.4) BREET (<21.4) |Z=AHMK
R4/ 4826H BREEd (<22.1) BREET (<22.1) |
R4/ 4826H BREEd (<£29.8) BREET (<29.8) | R FEHH#X
R4/ 48258 RHEET (<21.7) REET (<21.7) PRI
R4/ 48248 RHEET (£21.9) BREET (<£21.9) | X TFEHH#X
R4/ 48238 RHEET (L£22.2) BREET (<£22.2) ;AR
R4/ 4823H RHEET (<£19.8) BREET (<£19.8) |fe#iX
R4/ 4823H RHEET (<£26.5) BREET (<26.5) ;AN
R4/ 48208 RHEET (£22.9) REET (<22.9) | X TFEHH#X
R4/ 48208 RHEET (£22.9) REET (<£22.9) |&8X
- 48208 RHEET (<£25.2) REET (<25.2) |lLHHBX
- 48208 RHEET (<£24.8) REET (<24.8) |ILHMBX
R4/ 48198 RHEET (<19.7) REET (<19.7) |tHEHX
e 48198 RHEET (<20.8) REET (<20.8) |AXHX
- 48198 RHEET (<20.0) REET (<20.0) |&4piX
- 4818H RHEET (<£25.5) REET (<25.5) |tHEHX
R4/ 4818H RHEET (<£37.9) REET (<£37.9) |XTFEHH#X
R4/ 3 48178 REET (<£21.6) BREET (<21.6) |&4piX
R4/ 3 48178 REET (<£23.2) REET (<23.2) |&4iX
R4/ 3 48178 RHEET (<£21.5) REET (<21.5) |0
R4/ 3 48178 RHEET (L£27.5) REET (<27.5) |tHEHX
R4/ 3 48178 REET (<£24.3) REET (<24.3) |ILHEMBX
R4/ 3 48128 REET (<£20.5) REET (<£20.5) |&WHX
R4/ 3 482H RHEET (<£23.6) REET (<£23.6) |ILHEMX
I LFE 8H16H REET (<£12.8) REET (<12.8) |'"hNEB#X
BAIARF 7A31H8 REET (<£13.0) REET (<13.0) |FFHEMBX
RAIRF 6H28H RHEET (<£12.8) REET (<12.7) M
BAIRF 68278 RHEET (<12.7) REET (<12.7) |Z3AMAHX
BAIRF 68268 RHEET (<£13.0) wREEd (<12.8) |EHHX
I AT 6H7H REET (<£19.5) BmHEET (<19.4) |"hNEB#X
BAIRF 5H24H REET (<13.1) wREEd (<13.1) |Bx=#KX
BAIRF 5H17H REET (< 7.1) wREET (<11.2) |&4iX
BAIRE 5H11H REET (< 7.6) wREEd (< 9.5) |FMMAHX
25 MDF 588A( 636. 47~s L xar5 | (<16.6) | 470.96~sLn/+ar5s| (<16.5) |EEHMK
2T DI 5H?2H REET (<13.4) BREEd (<13.8) |/hNEB#hX
25D 48268 142 42~y Ln/xarsn | (<22.1) | 113.23~sLn/xarsn| (<22.1) |BEEMK
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o [ WHtEE S D LA (EEEME 100X LU/ F045 5 LUTF) -

o £ A 3 L4137 (<5 FIRE) £y L4134 BT i
2T DE 48258 111.58~sLn/%ns54 | (<21.4) | 76. 31~sLn/%ny54 | (<21.4) |BEHMK
EAOF S 48248 dakesry (£22.0) BmHEd (<22.0) |&HBHX
EAOF S 48248 dakesry (£22.4) BmHEd (<22.4) |2
EAOF S 48248 dakesry (L21.7) MmHEd (<21.7) [/hNE#X
EAOF S 48238 cdakesry (<£31.2) BmHEd (<31.2) ;AR
EAOF S 48238 cdakesry (<£20.3) BmHEd (<£20.3) |HHE#X
EAOF S 48198 dakesry (L21.4) BmHEd (<21.4) |&WiHX
EAOF S 48198 dakesry (L21.7) BMHEd (<21.7) | AKX
EAOF S 45188 daskesry (£25.2) BMHEd (<25.2) |@E#X
EAOF S 48178| 25. 21~sLn/xns54 | (<23.2) BmHEd (<23.2) |&HpX
YA 2 128148 daskesry (£25.7) BHEd (<26.9) |/"NEHK
FoT YA 28288 dakesry (< 8.9 BMHEd (< 9.8) |BExHK
FoTUHA 1089H gl (<15.2) BT (<15.1) |BEHMX
FoT YA 10848 B (<£14.9) BHEd (<14.7) |/"hNE#X
FoT YA 1083H B (<30. 1) BHEd (<29.9) |/"hNEHX
FoT YA 5H15H B (<£29.0) BMHEd (<29.1) "hNEHK
YVILLZHF 98138 B (£16.2) BHEd (£15.9) |BEEHKXK
YVILLTHF 956H B (<18. 1) BHEd (<17.8) |/"hNEH#K
NUHTY 78268 B (<£14.8) BHEd (<14.8) |/"NEH#X
ZR 128148 dakesr (<17.5) BHEd (<18.3) |/hNEHX
fyEOOY 8859H BHEd (<£12.5) BHEd (<12.4) [/hNEX
fyEOOY 7H108 B (<13.3) BHEd (<13.3) |/"hNE#X
fyEOOY 7838 B (<£23.8) BRHEd (<23.3) |EFHH#X
k< 7H26H B (<13.0) BHEd (<13.0) [EMH#X
k< 78198 B (<£12.5) BHEd (<12.4) | KHE#X
k< 78188 dakesr (<18.3) BHEd (<18.3) |/"hNEHX
k< k 7118 daskesr (<14.6) BHEd (<14.4) [/NEX
E¥ 98138 dakesr (<14.5) BHEd (<14.2) |/NEHX
Er¥ 28268 dakesr (<37 BRHEd (< 4.4) eI
Exr¥ 7H26H dakesr (<10.2) BHEd (<12.1) |BExEHX
¥ 48178 dakesr (£24.2) BHEd (<24.2) |IWAEH#X
R (K 8H13H dakesr (<13.0) BHEd (<13.0) |sEAHK
B (FK) 8A7H dakedry (<12.4) BT (<12.3) |#/INR#IK
B (&K) 88 28H dakedr (<12.0) Edahesr) (<11.8) |sEAHK
+ R 88 1H dakeiry (<14.7) B (<14.6) |BxEHMX
+ R 7818H dakeiry (<13.9) Edahesr) (<13.9) | KHE#X
>R 7812H kel (<16.8) Edahear) (<£16.9) |[EMH#X
+ R 7812H dakeiry (<14.2) B (<14.3) "hNE#X
>R 7838 kel (<14.2) Elahelr) (<14.0) |"hNE#X
+ R 68258 BHET (<15.0) BEEd (<14.9) |Z3FHE#X
DT 48 26H clakeir (<£31.3) BHEEd (<31.3) |EHIX
ERAYE 3812H cdakeiry (<12.2) BHEd (<13.5) |/hE#X
+NF 28 28H cakeir (<10.5) BRHEEd (<11.6) |BExEHWX
J A0 128118 BmHET (<12.0) BRHEd (<12.4) |
F A3 11B208| 26.3~svLn/#0454 (<13.1) MY (<13.6) |sAIN#X
T+ A0 11TA158| 83 1xsLu/%ns5.4 (<13.1) | 39.81~sLn/xny54 | (K13.7) |IUA#X
F A3 11148 94.82~sL1/%0554 | (<13.1) | 52. 9~sin/xnr54 | (K13.7) [ILEHMX
T A0 11TA13H]| 28 06~sL/xnv54 | (<12.9) | 17.08xsL/x0v54 | (<13.5) |IUE#X
T A0 11898 31. 72~xsLn/%ns54 | (<12.2) | 22.03~sLn/xn054 | (<12.8) |BEMX
+ A3 1188H kel (<£13.5) BHEEd (<14.1) |EHHX
F A3 1MB78]| 56. 79~sLn/#0954 | (<18.6) | 18. 75~sLu/xny54 | (K19.5) |#40#X
T A0 11B6H]| 69.55~sL1/#n0s54 | (<17.5) | 37.0b~sin/xns54 | (<18 4) |[EHMX
F A0 11B6B| 88. 7b~sLi/xny54 | (K15.7) | 47. M~sLn/%ns54 | (<K16.5) [EEHHK
F A3 108318| 64 12~xsL1/x0054 | (<18.5) | 36. TlxsL/xns54 | (<19.6) |EFA#IX
F A3 108248| 47 NM~xsLn/zns54 | (<16.2) | 26.61~xsLn/x0054 | (<16.8) |SAIRN#EIX
F A0 108238]| 343. 2~s /%054 | (K11.5) | 192 21xsLn/%ns54 | (<11.9) |[BEMX
F A0 10898| 75. 34~sLn/%n54 | (<13.1) | 41.89~sL0/%n0s54 | (<13.0) |[BEH#K
F A0 10898 125. 12~xsLn/%0r546 | (<13.3) | 71.36~sLn/%n0s54 | (<13.1) [/NE#[X
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AlEH

BEEE S D L (BEME 1005 UL/ F85 5 LLUT)

ERER I X

2 L1137 (<HETIRME) 2 L1134 (<HETRAE)
+ A3 10858 30.48~sLn/xnr54 | (<13.2) mEEd (<13.0) |&Ex=#HKXK
-5 11H8H dakesry (<17.9) BRHEd (<18.8) |fE#iH#X
-7 688H kel (<14.1) e (<14.1) /hNE#HX
-y 118278 dakesry (<17.4) MmHEd (£18.2) |HH&E#X
-y 108108 cdakesry (<£16.6) BmHEd (<16.3) |/"hNE#X
-y 7838 dakesry (<14.2) BmHEd (<13.9) |/"hNE#X
—oTy 65138 dakesry (<£15.0) BmHEd (<14.7) /hNE#X
-y 6H6H dakesry (<£14.8) BRHEd (<14.7) [/NE#X
—v=Y 65208 daskesry (<15.8) BMHEd (<15.9) |IWAMK
— =Y 65198 daskesry (<14.1) BRHEd (<14.2) |BE=#HKX
—v=Y 65150 dakesry (<£12.5) BHEd (<12.4) |3FHEH#X
—v=Y 68118 dakesry (< 8.5) BHEd (<12.0) |
¥ 118168 BRHEd (<14.7) BHEd (<156.3) |EM#iX
¥ 11H38H B (<£18.3) BHEd (<19.1) |E#H#X
¥ 108178 B (<£16. 4) BHEd (<16.3) |/hNE#X
¥ 108178 BRHEd (<£14.6) BHEd (<14.4) NE#X
¥ 8H1H B (<£15. 4) BHEd (<15.2) |3FE#X
¥ 7H26H B (<79 BHEd (< 9.8) |Bx=K
¥ 55 23H B (<£13.9) BRHEd (<13.9) [EM#X
¥ 5815H dakesry (< 6.7) BRHEd (£10.2) |EH#X
¥ 5815H dakesry (<£10.8) BRHEd (<10.8) |IWE#X
¥ 5811H dakesr (<£9.6) BRHEd (<13.0) |#BFRHX
¥ 58108 BRHEd (<£9.6) BHEd (<13.0) |#FRHX
¥ 48248 B (£24.3) BHEd (<24.3) AKX
NAAAIAD 11A148]|518. 07~s /%054 | (<13.9) | 321. T~sin/xns54 | (<14.5) [ KEMX
=E2 18308 dakesr (< 3.5) BRHEd (< 4.2) MK
=ES 18178 dakesr (< 6.4) BRHEd (< 7.3) |HE#X
=E2 128138 dakesr (<£12.5) BREHEd (<13.1) /hNE#X
=ES 128108 dakesr (<£13.2) BRHEd (<13.6) |FEFE#X
=E2 12848 cdakesr (£21.0) BREHEd (<£22.0) |[EMTHX
=E2 118218 dakesr (<£13.2) BREHEd (<13.8) |BExEHMX
=E2 11H6H dakesr (<£12.9) BREHEd (<13.5) |EHHX
=E2 5816H kel (< 7.4) BREEd (<10.9) | XTH#HX
ELLOAN 8878 kel (<£16.4) BRHEd (<16.3) |[/"hNE#X
INY BT 10816H] 322. 03~s /a5 | (<16.3) | 211 14~sLn/xnrs5n | (<15.2) |AK#MK
N F 5817H kel (<£13.5) BRHEd (<13.5) |[/hE#X
NILY AD 5898 kel (<£12.5) BRHEHEd (<12.5) |HHE#X
NILYAD 588H dakedry (<£12.5) BREEd (<12.5) |EHMX
NILIA BT 5825H dakeir (<£16.5) BRHEd (<16.5) |BExEHX
EbIUY 5830H kel (<£15.5) BRHEEd (<15.5) |/hE#X
EbIU 588H kel (<£14.9) BREEd (<14.9) |BExEHX
E—< > 98134 cakeir (<£18.9) BRHEEd (<£18.6) |[/NE#X
E—< > 986H BmHET (<£16.1) BRHEEd (<156.8) |/"hNE#X
F—< > 7818H cakeiry (<£13.0) BRHEd (<18.3) | KHEH#X
F—< > 68208 kel (<£21.0) BHEEd (<£21.0) |["hNE#X
EZR4T 12H6H kel (£23.0) BRHEd (<24.3) |&#X
EZR4T 11A13H kel (<14.0) BHEd (<14.6) |ILHAX
EZRYT 11H8H kel (<15.1) BHEd (<15.8) ;AR
EZ&4T 1MB8H| 19.53~xsLu/+0s54 | (<13.9) RHEET (<14.6) |#E&#X
EZR4T 11R1H kel (<15.5) BHEd (<16.1) /hNEHX
EZ&R4T 11A1H kel (<16. 4) BHEd (<17.1) |ZEAHK
EZ&R4T 10A31H kel (<21.3) BHEd (<22.6) |BExEHX
EZ&R4T 10A31H caskeicl (<19.5) BHEHET (<20.7) |Bx=#X
7F 68138 BHET (<14. 4) BHEET (<14.1) /hNEHX
7F 68128 BHET (<13.4) BHEET (<13.4) /hNE#HX
7F 5831H BHET (<15.2) BHEET (<15.2) |BxE#HX
7F 5829H BHET (<13.7) BHEET (<13.7) |3FHE#X
7F 5H28H BHET (<13.3) | 16.68~sL1/4ns54 | (<13.3) |HEHX
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o — WA D L (BEEE 100X L)L/ F8 55 LK) -

i z A 3 L4137 (<RI TARME) 3 L134 BT i
7 5H25H wmEEd (£12.8) BmEEd (<12.8) |ZFHE#X
7 5248 wrEEd (<£13.9) M (<13.9) |"hE#X
J¥F 5H15H wrEEd (<13.1) BmEEd (<12.1) |ZEAHMK
7¥F 5148 wmEEd (<15.1) mEEd (<16.1) | KE#X
7¥F 5148 wmEEd (<£12.5) M (<15.8) |#4#X
7 5148 BrEEd (£6.8) BT (< 91) | KE#MX
7 5148 BrEEd (£13.8) BT (<13.9) |"hE#X
7 5148 wEEd (6.9 BT (<10.4) |&Bi#X
7 5148 BrEEd (<£13.4) BT (<13.4) |BEHX
7 5108 BrEEd (£12.8) BT (<12.7) |IWE#X
J¥F 5H9H BrEEd (<12.7) BT (<12.7) |BE#X
7 5H9H BmEEd (<£14.8) BT (<14.7) |BEHX
JF 5H9H Edasgedr (< 92) BT (<12.0) |JAIR#X
JF 5A7H Edasgedr (<£13.6) BT (<13.5) |&MX
JF 5A7H Edasgedr (<13.2) BT (<13.2) |AKHK
JF 5A1H Elasgedr (<11.7) BT (<12.0) |JIR#X
JF 5A1H Edashedr (<10.9) BT (<11.2) |&HmX
JF 5A1H Edasgedr (<11.0) BT (<11.4) |
JF 4H26H Elasgedr (<£22.5) BT (<22.5) |&HHHX
7F 4H25H BT (<20.0) BT (<20.0) |tHE#X
7F 47248 BT (<20.1) BT (<20.1) |"hNEHKX
JF 4723H Eqanhedr (<£25.6) BT (<£25.6) |ZEH#X
7+ 48178 47.97~sLn/%0s354 | (<L30.3) BREET (<30.3) & H#X
JF 4812H BT (<£20.3) BT (<20.3) |tHE#X
AEDES 3H22H BREHEY (< b.5) 6. dd~sLn/xn55 0 (< 6.4) |lLA#X
SEDES 482H BEEd (<30.9) BT (<30.9) |[WEH#X
PPN 8A1H BT (<13.4) BT (<13.3) |BExE#KX
PPN 7H26H BT (<12.9) BT (<12.8) |&ExEH#KX
TI—N1) — 8H9H BT (<12.1) BT (<12.0) |IWWEH#X
TI—~1) — 8H6H BT (<12.1) BT (<12.0) |AKkHX
TI—N1) — 6H26H BT (<12.5) BT (<12.3) /hNE#X
TI—~1) — 68228 BT (<12.7) BT (<12.6) |ERE#X
TI—~1)— 68218 wEEd (<£13.3) Elahesr) (<13.3) |#EMriX
Joy3dl)— 9825H REEd (<17.0) BT (<17.0) |"hE#X
Joy3dl)— 5830H wEEd (<£23.1) BT (<£23.0) |"hNE#X
Joy3dl)— 58298 BT (< 7.2) B (< 8.6) |["hNEH#X
RO UE 3H26H BEEd (< 7.2) B (< 80) |BEx=#KX
RO UE 2H28H BEEd (<13.7) BT (<15.1) |&Ex=#KX
RO UE 2HAbH R (<13.7) BT (<15.5) |EHE#KX
R LUE 11858 BRHEET (<16.7) | 24.9B~sLn/xn054 | (<17.4) [ZEA#K
KoL UE 10818H REET (<£18.9) MY (<19.0) |["hE#X
R L UVE 6H8H REET (<K14.5) | 15.28~sLn/%n54 | (<14.4) |BEMK
RO UE 5H15H REET (<£14.5) MY (<14.5) |IWWAEH#X
KoL UE 587H REET (<£14.8) BT (<14.8) |"hNE#X
RO UE 48248 REET (£26.1) WY (<£26.1) |EHREH#X
RO UE 4H18H REET (<25.9) BmHEET (<25.9) |XRTEH#X
RO UE 4H2H REET (<25.8) BmHEET (<25.8) |IlLAEH#X
XA R 11B138| 19. 7xsLn/%0754 (<17.7) | 18.86~sL1/%4ns54 | (<18.6) |[{EMHX
XA R 10816H]| 50. 66~sL1/%0054 | (<13.6) | 30. 28xsL/%0054 | (<13.6) |&4E#X
AR 10H12H REET (<13.6) BmHEET (<13.4) |["hNE#X
XA R 10H3H REET (<14.1) mHEET (<13.9) |/hE#X
ARy 9F48| 14. 42~5L1/%ns54 | (<13.8) BRHEET (<£13.6) |/NE#X
<A R 5878]| 31. 21~sLn/#ns54 | (<13.9) 17.3b~sLn/%n756 | (<13.8) [/NE#HIX
SR AD 11B138]| 323. 32~s /#0354 | (<22.8) | 208. 16~ 1/%0554 | (<23.9) [/NE#HX
SR AD 118138 597. 46~s /#0354 | (<19.0) | 341.82~sL /%054 | (<19.9) [EHMX
SEY 9H21H REET (<14.9) BRHEET (<14.8) |A¥kH#X
SEY 7A31H REET (<14.5) RHEET (<14.4) "hNE#X
SEY 7H128]| 16.38~svLu/%nr54 | (<15 4) RHEET (<15.5) |/hNEH#X
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o [ eSS UL (BEME 100X LI/ 055 LLT) -

o = el 3 L4137 (<RI TARME) 3 L1134 CaErEm] R
SErEX 589H dakesry (<13.0) MmHEd (<13.0) |HHX
e EX 587H dakesry (<14.2) MmHEd (<14.2) |&HX
LAhT 11H6H kel (£13.6) MmHEd (<14.3) ;AR
LAhT 108168 dakesry (<13.7) wmHEd (<13.7) |/hNE#X
€ 7H26H dakesry (<14.1) e (<14.1) |FEAMK
S 11A1H dakesry (<£15.8) BRHEd (<16.5) |&MHHX
o KR 45248 dakesry (<20.4) BRHEd (<20.4) |@E#X
W 128358 dakesry (£13.6) BmHEd (<14.2) AKX
g 11H2H dakesry (<£13.0) BHEd (<13.6) |HHER#XK
g 11H2H cdakesry (<£13.0) BmHEd (<13.6) |EHMX
g 11A1H dakesry (<13.1) BmHEd (<13.6) |EHMX
ENVNE 108258 dakesry (<£12.9) BMHEd (<13.4) AR
IEF 3526H B (< 7.5) BHEd (< 8.9) |#4nthX
IEY 5891 B (<£13.0) BHEd (<13.0) |ILAEMK
IEY 45241 B (<L24. 4) BHEd (<24.4) |ZEHMX
IEF 48198 B (<25.3) BHEd (<25.3) |/"hNEHK
IEY 48128 B (<£25.4) BHEd (<25.4) |FEAHK
FRANI) — 68278 B (<£13.6) BMHEd (<13.6) |F/NR#IX
5oF LD 7838 B (<13.1) BHEd (<12.8) |ZEHMX
52T LD 6H6H B (£13.3) BHEd (<13.2) |FFH#X
e -R ) 5818H BHEd (£6.3) BHEd (< 9.5) /hNE#X
5oF LD 5815H BRHEd (<12.1) BHEd (<£12.2) |tHE#X
2=} 108108 B (<14.1) BMHEd (<13.9) |FFH#X
)4 8R17H BRHEd (£12.5) BHEd (<12.4) /hNE#X
LR X 7H26H BRHEd (£6.8) BHEd (< 7.7) "hNE#X
O—X<!)— 6H218]| 35. 73xsLn/x055L (<£22.0) BREET (<£22.0) |AE/NRX
o—)T 1082H cdakesry (<£33.1) BRHEd (<33.2) |tHE#X
o—YyxT 48128 97. 4~5Ln/x0451 (<40.7) | 84.84~xsLn/xns5n | (<40.7) |tHE#IX
JYEX 11A1H cdakesry (£18.2) BRHEd (<19.0) |/hNE#uX
A= 6858 78. 1bxsLn/xns54 | (<15.4) | 55 08~xsLn/xns54 | (<156.4) [BEH#K
J7E 5H18H BREtEd (£ 7.5) BRHEHEd (< 9.7) /hNE#X
A= 5178192 9 ~sin/xor54 | (K14.1) | 128 43~sLn/x054 | (<14.1) |EEHK
A= 5815H kel (<£13.9) BRHEd (<13.9) | RTEH#X
A= 58148 kel (<14.8) BRHEHEd (<14.9) |"hNE#X
A= 58148 dakedry (<15.1) BREEd (<15.1) |&E#X
A= 58148 dakeiry (< 7.3) BRHEEd (£11.2) |£#X
7o 5A118| 31.1xsLn/x0s54 (< 8.2) BRHET (<11.2) |"hNB#X
A= 58108 dakeiry (< 81) BRHEd (<10.2) |BExEmX
A= 5810H dakeiry (<15.1) BRHEEd (<15.1) |Z3FHH#X
A= 5898 Clakeir (<£14.5) BHEEd (<14.4) |BExEHX
A= 5898 kel (<14.0) BRHEEd (<14.0) |Z3FHHX
A= 588H Edakeir (<15.6) BRHEEd (<15.6) |RTE#HX
A= 5828 kel (<£12.4) BREEd (£12.8) |
A= 48278 cdakeir (<11.2) BREEd (<11.5) |BEEHMX
A= 48 26H kel (<£20.9) BREEd (<20.9) |
JoE 47268 kel (<22.7) BHEEd (<22.7) |ILHAHX
ok 4823H kel (£27.8) BRHEET (<£27.8) AIA#X
ok 4823H kel (£23.8) BHEHEd (<23.8) |Hx
ok 4823H ke (<£20.9) BHEd (<20.9) PAIA#X
JoE 4812H kel (<£23.0) BHEd (<23.0) |ILHAX
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